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The figures in the margin indicate full marks.
Candidates are required to give their answers in their own words as for as practicable.
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1. Answer any _five of the following questions: 2x5=10
feafefe @7 @ o et Tew wie:

a) What is the meaning of the word 'moral' in the broadest sense?
o o o F2fba s 52

b) What is moral philosophy?
Tfor=lq Fit T2

c¢) Is imitative action the subject of moral judgment?
e T o fos fRoiEs RraE?

d) What is the difference between right action and good action?
o FIE 8 OIteT Fred W&y AL 62

e) Write two sentences in which the word 'good' is used in a non-moral sense.
Q¥ 7fo I @4 AqTe OIE W q-LAfeF wedf Ize 27 |

f) What do you mean by ethical hedonism?
TfReerTae 3 e F @R?

g) Distinguish between supreme good and complete good following Kant.
FIBE TP T AT Tl @ Aol Fapiet @7 Wy NLFT SN

h) What is environmental ethics?
sAfseare tfewel 62

2. Answer any four of the following questions: 5x4=20
EfIRS 7 @y o1af7 el Tes wie:

a) Explain briefly, what is the deep Ecology.
USERICEGRLCECNSEIEAS IS (Gl D I

b) Discuss the difference between ethics and morality with examples.
Trrzael @i G (RIEGR Wexy #A1e e S |

c) Explain the "paradox of hedonism".
"R R — T B |

d) What does Kant mean by 'Kingdom of Ends'? Discuss.
e TYCRR AEy @IS FB [ JRICACRA? ST FCl |



e) Can euthanasia be morally justified? Discuss.
TR 5 (AT TREEre 20S A2 G I |

f) Discuss the differences between anthropocentric and non-anthropocentric environmental
ethics.

TS ¢ TGP A TSR ey #1127 v S |

3. Answer any one of the following questions: 10x1=10
fafeife @ @ 93 fb arew Tex me:

a) State and explain the arguments in favour and against suicide.
AreE FATE ¢ [oirF Ioafd Sraes s I T

b) Explain the view enunciated by liberal feminist.
SArAeI3 TR oS W T

¢) Which of the theory of punishments do you think is most acceptable? Explain.
e SRcw f[fey Toamelm Wy @9 Toamb @R Q2@ I (O W =2
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